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Instructions : (1) Check the question paper for fairness of printing. If

there is any lack of fairness, inform the Hall
supervisor immediately

(2) Use Blue or Black ink to write and underline and
pencil to draw diagrams.
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uggl — | / PART-
Golly: (i) omearsg aflarrdsend @ allenL_wer 12x1=12
(ii) lseyd CuTHGSwTeT allewL_eww Cs5ibH6l%HSH HeT GHMIuTL (HL_ssr
aflewL_uilewedsruid 6T(1pHI%
Note: (i) Answer all the questions
(i) Choose the most suitable answer and write the code with the

corresponding answer.
1. &LV Bl L GFl6L euaflossdrL eV &) (1pHSHS6T Lol
9) 76 Q&.16 LUTHTFSHSIDLILD <) 760 Q&.f LUTHTFSHSIOLILD
@) 176 Q&..5 uTHTFSS LD i) GLoM) & 6U0TL_ 963 63T S| LD
The value of the atmospheric pressure at sea level is

a) 76 cm of mercury column b) 760 cm of mercury column

c) 176 cm of mercury column d) 7.6 cm of mercury column
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@resr® GumrmeTsemers Gapiid@ld GuTghl sTeweu @)L LOTHOLD VLSBTV
WlestGearmmid sTHLIBHS mGI?
) Bl gmesTsH 6T <) 4GrmiL_meirser
(3)) 6TV LT TEdTH6IT ) Y@ T L T6dTa@hLD 6T6V L [T 63T (61HLD

The electrification of two different bodies on rubbing is because of the transfer

of
a) Neutrons b) Positive
c) Partly negative and partly positive d) None of these

5260l emev s aflsiTal FareTew B S LD T6vTl B M G

<)) Gausib %) FBF) @) ey ) S|Bli Cleent
The amplitude of the sound wave decides it www.zealstudy.in
b) Speed b)Pitch c) Loudness d) Frequency

ler alleTdhaslhasTer ) emipser GlFuiwLIweTLRID Sevfliolb

<GBy 2}) HTlTid 3)) LmieivL_sbr ) Guirgmest
The element used for making the filament of a bulb is

a) lron b) Copper c)Tungsten d) Boron

R (VL0 63T ) DT 5,851 | &I .85 @M L0

9)) 2 Cr | TISTEITEH T U|LD, (b6 (M 6T6v5T6W 600 | LD o] LD 6T 1T 63T

<) @Cr e sTevsTeNeTLD, CoumLi L e 6TessTemewTLD 6% TevoT(hsiT6omesT
@) 2CrojansTaTensTwd, CoumLil L Blenm eTessrenewtd 6% Tessr(hsiemesr

F) 9|6 6T6R0T LOMMILD Blewm 6T6wsT Dpaslut @) revor(y) GeumLi(h\dlssrmet.

In all atoms of an element

a) The atomic and the mass number are same

b) The mass number is same and the atomic number is different
c) The atomic number is same and the mass number is different
d) Both atomic and mass numbers may vary.

HH6T BT HST H1q.69T5HTEMLOS F HTTERTLLS () (HLILIEHEU

9) FLBUL_(HBs6iT ) HTHESHET

@) sriuGesri wHmiD epusTiLGeTL F) STewThgleTer Lme LT herdsir
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Permanent hardness of water is due to the presence of
a) Sulphates and chlorides b) Dust particles
c) Carbonates and Bi carbonates d) Other soluble particles

7. Y CrTCas MGl 14 B ewtewn) ullfluim @b

) eWeUTEIV 9}) DVHT 3)) weEpemF ) urdteflwr

is a prokaryotic micro organisms

a) Virus b) Algae c) Fungi d)Bacteria

8. 2 L efletre_er@pBlewsven wETTHSLILITTLONSS6V6T6TLIG)

eTedTLILI(HILD .
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9) CamrilGuireivL_rdlen <) CanmiflGuiren L s
3)) CamriGuiTenamesrdlev ) Gan TLHl Guwirailedld e

Maintenance of constant internal environment of the body is known as

a) Homeostasis b) Homeophytes
.c) Homeokinesis d) Homeophilics

9. o massr Qeuallliyms sralewests (LeTerT) &rmi@eaugiers?
<)) sTIIDL 2) GHSCBRIDL

®3)) HwFBTI F) &TLI6TVWL6D

External ear (Pinna) is supported by
a) Bone b) Cartilage
c) Tendon d) Capsule

10. wenTLriileL LIMiihg) LoessTewTey)I6iT 29T (H)(HeyLD (LHewM
9|) B TLITFeTLD 9@p) ULy B TLTFeTLD
@) OsBliyBiurasTid /) Q&L BB TLITFeTID
The method in which water flows over the soil surface and allow it to infiltrate is
a) Irrigation b) Surface irrigation
c) Sprinkler irrigation d) Drip irrigation

1. sowilefluilesr Shewg eTarm jewLpda LB ueur wri?
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12.

O ) LOIT T Lg-63T6Y| & T S5 s 9p)H TS TIDGILIV

@) sriederiiefst ) TireveLITCIGLIgD

Who is the father of computer?

a) Martin Luther king b) Graham Bell

c) Charlie chaplin d) Charles Babbage

e QFiiim QFwisns Béamn (Undo) gmise aulf) eflens srg?

o) Ctrl+Z <) Ctrl+R @) Ctrl +Y m) Ctrl + N

What is the short cut key for undo option?

a) Ctrl+Z b) Ctrl+R c) Ctrl+Y d)CtrlI+N
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@O0y (i) eremen Cuignib LSlewesthal alleTTdESEmE @ Fr(HEBELTS aflewwef 15x2=30

(i) ea@eurm UNalleib Gmonbsg pbaHISTTESEHES@ ailenL_welldsseaLd.

Note: (i) Answer any 15 questions in brief:

13.

14.

15.

16.

17

(il) Must answer at least 5 questions from each group.
Uifley— 9 / Section-A
QT euTs 2 _sirar el (h pewmaafledt GlLIWTHeDaTS & ([Hb.
Name some common systems of measurement.
urliy @)upellend HTeurbisEhds@ 6TeUeUTN)| 2 &6 dhmg)
How does surface tension help a planet?

sTHYlv speflullest Flews Geusid 3x108 Wall-lwmmb 2011 H5H60  sparfluilesr

FewaGeausid  2x108  fallsrhewpls QuTMss 20 $5560  spaflailevasv

6TEIITED 63T & T 63T .

Speed of light in air is 3x108 ms-1 and the speed of light in a medium is

2x108ms-1. Find the refractive index of the medium with respect to air.
H6T CleuliLl eTMHLSSIM6ST euenTuIm)

Define specific heat capacity.

. OlT(LPEVT LD LpFrSH60l60T LIWIGTHEMET & (1

Give some uses of electroplating.
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23.

24,

25.

26.

B)ewFsH @G B)ewrFFId G @) Tent(h CouniLrHBenerd & [Hsb.

Give two differences between music and noise.

QUGTEILIT(H6IT LHMILD GLDESTGILIT (K6 6TET M6V 6T6IT6UT

What is hardware and software?
ifley — g/ SECTION - B

Ulstteupid @mufBHlEBerTsv @mabsLIeILMID SHevflomiseaflsiT ClLIWTHewar 6T(LpGI%.
<) Na <) Ba @) W. ) U.

Name the elements for the following symbols.
a) Na b) W c) Ba d) Al e)U

9| VTS 51 LILpMBIG @1BLD, & 1% M LD LIPS LILIT T & 6V 15 1D6Yd
2 _6TOMTHITNSTEUT? SHTTENTLD & (H.

Do all the fruits and vegetables undergo browning? Give reasons.

9 BVITH BI% EIHL_6T 60 BL_T6vl6T allemedTemiLs 6T(LHI%.

Write about the reaction of nitrogen with non-metals.

FPSHHMTL QlleHTHEHSSTRT (LPHMILT ClUDTeUTUILILITL 196DeT 6T(D HSHeWeuT
FLO6T GIF IS5,

urevurew + &Gearmrifler LmevLITe GlueTL T&hSarTenr(h

Write the skeleton equation for the following word equation and then balance
them.

Phosphorous +Chlorine — Phosphorous Pentachloride.

BT (h Fieu HeWILILITET HTT6NILD dn M|

Water is a universal solvent. Why?

IILONVBIGST LDHMILD STTHI%EHSE @)ewL Cuwiwiresr GeunmenLo6T wWreneu?

Distinguish between acids and bases.

UV, (B)WmF6) 6T6ITLIG) 6T6HT6O 7

What is right alignment?
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Nifley — @)/ SECTION - C

CpruyesTL_Tdh @D BiewTayuilflasr wesflgilsL eTeksurm) HiewLpdlesrment?

How do harmful disease causing microorganisms enter into human body?

LlewrGuimsasnil_(HaaflsL 6T6H6m6T 6u@LILSH6T 2 6Tard)? jemeuTeneu?

How many classes are there in Bryophytes? Name them.

Yewa L & & malluL 6T Hesstenent syer spliLll (S Gmmib.

Why do we compare the Human eye with the camera

UMD euuiledT 6TeYIDLd o (P6TeUEUTH) LMLILIGDE TDHMSHTSH 2_6T6emd)?

How is the skeleton of bird well-suited for flying?

LheuewL_gedledr GLiTgy) sTHLIBID LOTMHMBISET WTemeu?

List out the changes which occur during puberty.

LV flutems BITLD 67637 LITGEHTHS Gouersr(hid?

Why should bio diversity be conserved?

2 uflifl 19 EHTL 14 H6T 6TETMT6ED 6T6IT6VT 7

What is Bio- indicator?

sliflsig elleheprerGapslrm upml @6 Ay GBI 5HS.

Give a brief account on krishi Vigyon Kendra.
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@Oy : (i) oewersg allesTdsEhd @ allewL weflddeyh

(i)speu@eumr i alflesrrailh @b BHTeir@, LHILIGLICTTS6T

(iii) Cpeweuwiresr @)L_Bigefled LIL 1D euewras.

Note: (i) Answer all the questions

(ii) Each question carries Four marks

(iii)Draw diagrams wherever necessary
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37)

9) WYSwSE  FTIHH YWD Il&MSSIDSG  eTaTUDG  BlehLlG@ W

CrrasemesTenw allard @s.
(Ds0e051)
Q) QBT LHMID LIGSE)wenTLILF FDHewm ailerd @ s.
(a) Describe an experiment to prove that the pressure in a liquid increases with

depth. (or)

(b) Explain the parallel and series circuits

<) (i) 995Camigr L geflwmigselsr @)ewsnenesds & renrds.

a) Nacl b) AIPO4

(i) K& TeWIDFLOGTUT(HHEDETFFLOITOF IS

a)H2+cl, — Hcl b) N2+ Hz —= NHs

) BB S1g6r B eTeTTeD sT6breN? @)SF6trenio sTIUTYI S IILGSDSI?
(a) (i) Find out the valence of the underlined element.

(a) Nacl (b) AIPO,

(i) Balance the following equation
a) Hotclo —» HCL
b) N2 +H, — NH3

(b) What is permanent hardness of water? How is it removed?

9)) @mallsdlemey wHmID @) Halsdlewey FHTaUTBISEHEE @ Cw o srer
TCHeID MbHLH CoumLT(HHEWET 6T(LPGI%

<) 2 ullflerhisemsy sreriiu®n LLGam| auenSHWTeT B wdhsnhiIsenarts LnHM]

(a) Write any five differences between monocot and dicot plants.

(or)

(b) Discuss various types of movements seen in living organisms.
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GOl : () aCseib cpsTmy allerTds Emds@ ailsw L werfl

(i) uLmisewer Ogaflurs euswrhgl aCHID @resr(h) LITHBIHD6TS

@M HaLD
Note: (i) Answer any three questions

(ii) Draw neat diagram and label any two parts

38) umeww @)evev ailewerey

Green house effect

39) Gerguwid e www.zealstudy.in

Sodium atom

40) sTHHL VD
Magnetic field

41)  GCu&eNCumrdaliGug sl
Bacteriophage
42) oL

Yeast
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